
 1

Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.-  SEMESTER–VI EXAMINATION – OCTOBER 2012 

Subject code: 361903   Date: 27-10-2012 
Subject Name: Industrial Engineering  
Time:  2:30 pm – 5:00 pm     Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic 

 
Q.1  (a) Define workstudy and list any five workstudy techniques. Briefly state the 

role of any one technique to enhance productivity. 
07 

 (b) Construct a suitable process chart from the following data of manufacturing 
a machine part. 
 1     Move bar stock from store to hacksaw             Dist 8 meter   
 2     cutting of bar stock                                         Time 4 min 
 3     move to lathe machine                                    Dist 6 meter 
 4     Turning Process                                              Time 5  min 
 5     move to milling machine                                Dist  7 meter 
 6     Awaiting for milling machine                         Time 2   min 
 7     milling key way                                              Time 10 min 

07 

    
Q.2  (a) (I) Classify material handling equipments. 03 

    (II) List any six factors affecting the reliability. 04 
 (b) During the production of machine component the average observed time of 

four elements are 0.8 min,0.6 min, 1.2 min,and 1.5 min. Rating for 
respective elements are 80%,100%,90% and 110%. If allowances are 20% 
find out standard time and also find out production per hour.  

07 

   OR  
 (b) A work has its true standard time is 2.4 min. During stop watch time study 

its observed time is noted as 2.5 min and 90% rating is given for work. If 
total allowance to be provided is 20% determine that given rating is tight or 
loose. Calculate the difference between true standard time and calculated 
standard time. Also state the effect of this difference on workers.  

07 

    
Q.3  (a) (I) Explain the concept of ‘Job evaluation’. Explain any one method of job 

evaluation. 

03 

  (II) Standard time for a specific work is 30 hr and worker completes the 
work in 24 hr. Find out wages to be paid at a rate of 10 Rs./hr as per Rowan 
plan. Find out wages according to 50-50 Halsey plan. 

04 

 (b) (I) Draw Normal Distribution curve and label it. Briefly explain any two  
Characteristics of it.  

03 

  (II) Upper & lower Specification limits of shaft diameter are 30.20 mm and 
30.00 mm respectively. Mean diameter is 30.05 mm and standard deviation 
is 0.05mm. Find out how many parts out of 400 will be accepted. 

Z-value Area 
  3 0.4987
-1 0.3413 

04 
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  OR  

Q3  (a) (I) Explain Job Specification with specific example of Diploma mechanical 
engineer in any CNC based industry. 

03 

 
   (II) As per 50-50 Halsey plan find out the wages to be paid to worker. 

(1) guarnted wage rate=Rs. 10/hr 
(2) time standard=15pieces/hr 
(3) production=225 pieces 
(4) time taken by worker=12 hr  

04 

 (b) (I) Explain following statistical measures. 
(i) mean (ii) mode (iii) median 

03 

  (II) Calculate mean, median, mode and range for the following data 
2, 4, 5, 4, 9, 6, 4, 6 

04 

    
Q.4  (a) (I) Explain any four pattern of variation in X-bar & R chart by drawing 

pattern and stating causes of variation 
04 

  (II) State the principle of statistical tolerancing and list its assumptions.   03 
 (b) From the given data find out control limits for X-bar & R chart. Calculate 

standard deviation and process capability. 
Obs. no 1 2 3 4 5 6 7 8 
X-bar 26.00 34.00 28.50 32.75 29.25 26.00 27.25 30.25 
R 30 17 18 23 30 15 19 18 

A2=0.73, D4=2.28, d2=2.059 

07 

  OR 
Q.4  (a) (I) Differentiate Variable and attribute control charts(any four) 04 

  (II) List any three advantages of statistical tolerancing. 03 
 (b) For observing 10 samples of 150 each defective pieces noted as 4, 7, 5, 6, 4, 

8, 7, 10, 8, 9. Find out control limits for appropriate chart and give your 
comments regarding process. 

07 

    
Q.5  (a) (I) Explain Double sampling plan for the following data with usual 

notations. 
N=2400, n1=150, n2=150, a1=4, a2=9, r1=8, r2=10. 

04 

  (II) Explain in brief. 
(1) Physical work load (2)Mental work load (3) Perpetual work load 

03 

 (b) State the concept of kaizen and list any six objectives of it. 07 
  OR 

Q.5  (a) (I) Give difference between single sampling plan and double sampling plan. 04 
  (II) Explain the concept of ‘Anthropometry’ with illustration. 03 
 (b) List seven important features of ISO 9000 07 

 
************ 

 
પ્રĕ1 (અ) વક½ƨટડ� ની ƥયાƉયા આપો અને કોઇપણ પાચં ટકનીક ની યાદ� આપો° . 

પ્રોડકટ�વીટ� વધારવા માટ કોઇપણ એક ટકનીક ની કાય½વાહ� Ȭંકમા ંજણાવો° ° ૂ . 

07 

 (બ) એક યં́  ના ભાગને ઉƗપાદન કરવા ની નીચેની િવગતો ઉપરથી યોƊય 

‘પ્રોસેસ ચાટ½ ’ દોરો. 

 1 બાર ƨટોક ȵ ંƨટોર થીુ  હકસો Ʌધી ƨથળાતંર° ુ      Ӕતર 8 meter   

 2 બાર ƨટોક ȵ ંકટӄગુ                               સમય 4 min 

 3 લેથ મશીન Ʌધીુ   ƨથળાતંર                     Ӕતર 6 meter 

07 
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 4 ટન¢ગ પ્ર�˲યા                                    સમય 5  min 

 5 મીલӄગ  મશીન Ʌધીુ   ƨથળાતંર                 Ӕતર  7 meter 

 6 મીલӄગ  માટ પ્રતીëા°                             સમય 2   min 

 7 મીલӄગ    ક� વે                                  સમય 10 min 

પ્રĕ2 (અ) (I) મટ�ર�યલ હͭલӄગ ઇકવીƜમેƛટસ ȵ ંવગ�કરણ કરોҰ ુ . 03 

    (II) ર�લાયેબીલીટ� ને અસરકતા½ કોઇપણ છ ઘͫકો ની યાદ� આપો. 04 

 (બ) એક પાટ½ના ઉƗપાદન વખતે કાય½ ના ચાર ઘͫકો ના સરરાશ અવલોક�ત સમય °

0.8 min, 0.6 min, 1.2min અને 1.5 min નҭધેલા છે.રટӄગ અȵ˲મે ° ુ 80%, 100%, 

90% અને 110% છે. જો આ કાય½ માટ Ȣલ° ુ 20%  Ġટછાટ આપવામા ંઆવતી હોઇ 

તો આ પાટ½ ના ઉƗપાદન માટ નો પ્રમાણીત સમય શોધો અને કલાક દ�ઠ °

ઉƗપાદન પણ શોધો. 

07 

   અથવા  

 (બ) એક કાય½ નો ખરો પ્રમાણીત સમય 2.4 min છે. ƨટોપવોચ ટાઇમ ƨͫડ� દરƠયાન 

અવલોક�ત સમય  2.5 min અને રટӄગ°  90% છે. જો Ġટછાટ 20%, આપવામા ં

આવેલ હોય તો નï� કરો ક ર° °ટӄગ કડક છે ક નરમ° . ખરો પ્રમાણીત  સમય તથા 

ગણતર� થી મેળવેલો પ્રમાણીત સમય વƍચેનો તફાવત ગણો. આ તફાવતની 

વક½ર ઉપર Ƀ ંઅસર થશે તે જણાવોુ .  

07 

પ્રĕ3  (અ) (I) ‘જોબ ઇવેƣȻએશનુ ’ નો Ɖયાલ સમĤવો. જોબ ઇવેƣȻએશન ની કોઇપણ એક ુ

ર�ત સમĤવો. 

03 

  (II) એક લાëણીક કાય½ નો પ્રમાણીત સમય 30 કલાક છે. વક½ર આ કાય½  24 

કલાક મા ંȶણ½ કરછેુ ° . રોવાન Ɯલાન પ્રમાણે 10 Rs./hr ના દર વક½ર ને કટɀ ં° ° ુ

મહનતાȰ ંȧકવɂ ંપડશે° ુ ુ ુ . હƣસી Ɯલાન ° (50-50) પ્રમાણે મહનતાȰ ંશોધો° ુ . 

04 

 (બ) (I) નોમ½લ �ડƨ˼�ƞȻશન કવ½ દોરો અને લેબલ આપોુ . તેની કોઇપȰ બ ે્

લાëણીકતાઓ Ȭંકમા ંસમĤવોુ . 

03 

  (II) શાફટ ના ƥયાસ ની ઉપલી અને નીચલી ƨપેશીફ�કશન લીમીટ અȵ˲મે ° ુ

30.20 mm અને 30.00 mm છે. મીન ડાયામીટર 30.05 mm અને પ્રમાણીત 

િવચલન 0.05mm છે. 400 દાગીના મા ંથી કટલા દાગીના �ƨવકારવા મા ંઆવશે° . 

Z-value ëે́ફɁ ્

 3 0.4987

-1 0.3413  

04 

  અથવા  

પ્રĕ3  (અ) (I) ડ�Ɯલોમા મીકનીકલ Ӝĥનીયર ના લાëણીક ઉદાહરણ માટ ° ° CNC આધાર�ત 

ઉČોગમા ં‘જોબ ƨપેિસફ�કશન ° ‘ સમĤવો. 

03 

   (II) 50-50 હƣસીƜલાન પ્રમાણે વક½ર ના મહનતાણા ંની ગણતર� કરો° ° . 

(1) ગેરટડ વેતન દરҰ °  =Rs. 10/hr 

(2) સમય પ્રમાણ =15pieces/hr 

(3) પ્રોͭકશȵ ્=225 pieces 

04 
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(4) કામદાર લીધેલો સમય°  =12 hr  

 (બ) (I) નીચેના ӕકડાક�ય માપો સમĤવો.(1) મƚયક (2) બɆલક     ુ (3) મƚયƨથ 03 

  (II) નીચેના અવલોકનો માટ મીન° , મીડ�યન, મોડ તથા રજ શોધોҰ .  

2, 4, 5, 4, 9, 6, 4, 6 

04 

પ્રĕ4 (અ) (I) X-bar અને R ચાટ½ મા ંઆવતા કોઇપણ ચાર વેર�એશȵ પેટન½ દોર�્  સમĤવો 

અને વેર�એશન ના કારણો જણાવો. 

04 

  (II) ƨટટ�ƨટ�કલ ટોલરંસӄગ નો િસƚધાતં જણાવો તથા તેની ધારણાઓ ની યાદ� °

આપો. 

03 

 (બ) નીચે ની મા�હતી ઉપરથી X-bar અને R ચાટ½ની કં˼ોલ લીમીટ શોધો. પ્રમાણીત 

િવચલન તથા પ્રોસેસ કપેબીલીટ� શોધો° . 

Obs. 

no 

1 2 3 4 5 6 7 8 

X-bar 26.00 34.00 28.50 32.75 29.25 26.00 27.25 30.25

R 30 17 18 23 30 15 19 18 

A2=0.73, D4=2.28, d2=2.059 

07 

  અથવા 

પ્રĕ4  (અ) (I) વેર�એબલ કં˼ોલ ચાટ½ તથા એ˼�ƞȻટ કં˼ોલુ  ચાટ½ ના તફાવĂ આપો. 

(કોઇપણ ચાર) 

04 

  (II) ƨટટ�ƨટ�કલ ટોલરંસӄગ ના કોઇ પણ ́ણ ફાયદા ની યાદ� આપો° . 03 

 (બ) 150  નગં ના એક એવા 10 સેƠપલ ના અવલોકન દરƠયાન પ્રƗયેક મા ંજણાયેલ 

ખામીજƛય નગંો 4, 7, 5, 6, 4, 8, 7, 10, 8, 9 છે. યોƊય ચાટ½ માટ ની કં˼ોલ °

લીમીટ નï� કરો. અને પ્ર�˲યા Ӕગે તમારો અ�ભપ્રાય આપો. 

07 

    

પ્રĕ5  (અ) (I) નીચે ની મા�હતી ઉપરથી સામાƛય નોટશન પ્રમાણે ડબલ સેƠપલӄગ Ɯલાન °

સમĤવો. 

N=2400, n1=150, n2=150, a1=4, a2=9, r1=8, r2=10. 

04 

  (II) Ȭંકમા ંસમĤવોુ . 

 (1)શાર��રક કાય½ભાર (2)માનિસક કાય½ભાર (3)સવેંદનશીલ કાય½ભાર 

03 

 (બ) કાઇઝન નો Ɖયાલ જણાવો. તેના કોઇપણ છ હȱઓ ની યાદ� આપો° ુ . 07 

  અથવા 

પ્રĕ5  (અ) (I) સӄગલ સેƠપલӄગ Ɯલાન તથા ડબલ સેƠપલӄગ Ɯલાન વƍચેના તફાવતો 

આપો. 

04 

  (II) ‘Ӝ̂ોપોમે˼� નો Ɖયાલ ઉદાહરણ આપી સમĤવો. 03 

 (બ) ISO 9000 ની અગƗય ની સાત લાëણીકતાઓ ની યાદ� આપો. 07 
 

************ 
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